According to Arthashastra of Kautilya
who among the following was
responixible for collection of state tanos?

(A} Samaharto i Sannidhata
(C) Karmank (D) Nagarika
wiften & andemres % apar Prefefea 9 48

1 T & w0 W aue & fed P
o i

(A) Tmmal
(C) mmtfirs

() wf=amm
(D) it

The units of which two physical
quantities are same 7

(A) Force nnd Energy

(B) Force and Accelerabion

(C) WVelocity and Speed

(D) Velocity and Distance

fem 1 ffes fd! & s R § 7
(A) w7 7 S0

(B) @A vd =

(C) 37 ud =@

(D) & ud of

What would be the printed price of a
wall-clock purchased at Rs. 3%(), so that
afler giving 5% discount, there is 25%
profit ?

(A) Rs. 650 (B) Rs. 600

(C) Rs. 300 (13) Rs. 450

U dar TE w1 e R a w A
EE &Y e T R0 R Ud Sz W &
Ay 25% W B 7

(A) B 650 (B) ®, 600
(C) & 500 (D) & 450
18] 221

4

t-a

I'he slope of the velocity-time grivph o
uniform motion s

(A} 1D

(R positive

() nepative
(D) eannot be prediciled

art st ¥

(A) TH
(B) UATHS

(C) e
(1) a8 Fm

['_'r-.r{_l:t = E o
Cos(a+p)

If tan o= K oot 3, then

equal 0 -
Cos{e—p)
Cosia+B)

ot tan = K cot p &

& AT B -
I+ K _
| =K 1+ K
K+1

=

(A)

Which one of the following is not
matched properly 7

Industrial Region Country
(A) Osaka —  Japan
(B) Lancashire -  DBritain
(C) Salem — India
(D) Birmingham —  France

Freafefias & | Toaa w8 9 A8 % ¢

S &= EH)|

(A) st - ANA
(B) H®AET - =
(C) HE= - Hd
([ =ity WiE

Next Page ’

S



16 Thie bulanced budget mubtiplies ol vnily
implies that 11 government expendiune
increases by Re. 1, doe'io He. | incredse
in taxes, then nattonal incoime |

tA) Increases by R, 2

(1) Remuing unchanjged

(C) Increnses hy He! |

(I3 Pegresses by Re, |

g% i wae s ) e an B
st il # | w90 @) ghg s ararh
wra | ewg q g K, W@ el g -
(A) 2 vum & Wi

(B sofafa &

(C) | o | ek

(D) 1 5w & wi

17 Which of the following medicine is an
analgesic ¥
(A} Streptomycin (B) Chloromyeetin
(C) Novalgin (D) Penicillin
Frer 7 & we o e &
(A) BemEilE  (B) snoEmEEisT
(C) e (D) afraf

I8 Which one of the following is not
correctly matehed
(A) Kanwar Singh - Bihar
(B) Laxmi Bai - Jhansi
() Nann Sahib - Awadh
(D) Maulvi Ahmedullsh - Faizabad

fore & 31 E g o e E
(A) #aT fin — faery
(B) wedt ag - an

(C) 7 =T - @
(D) i) wEmgmn - G

18] 221

' views of Swami Duyanand =&
i |.'[ll|.l::||I1'H.."-d in # hook named

(A) Rasl Cionllar

(13 Ciilo Fabisya

(C') Hetal Panchav)

(1 :iim:.-urlh;l'mk:nh

gy wurhe ol Ty om0 il

TS o

(A} T T

(1) e oees

() wamd

(1) wemd s

20 Translate |h: following sentence mio

Hindl, (o

Women leaffr’ English faster than men

(A ATk StrA e A

() s e st qe @ ded B

(C) qon *{ﬁiﬁi&r’f a1 e o smd AR
) dm ¥

(1) ﬂhﬁrﬂ%ﬁm iy e ® s A
el

21 _c;hﬂ-ﬂhi: theé.torrect synthesis of the
following Wil simple sentences from the
options gived below. Combine the two
o form ongsimple sentence,

This ts my &usin, His name is Raj
(A) This is Ray who is my cousin
(B Th.!y i} my cousin, his name being
1T PR O
(C) This i{xhy cousin Raj.
(13 This n'.lgfr:,rmin i Raj.
LY =

12 Chmse_theﬁrrm nssertive form ol the
following sentence from the oplions
below
Shall 1 ever forget vou 7
(A) | may never forgel you,

(B) | shall never forget vou,
(CY Not will T forget you,
(D) 1's difficult o foget you,

]
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23 Which one of the following Sintes in
Ivedin shows the i decadal grivwth

re of population didng 2001-2011 7
(A Nagnland !

(B) Arumachal Frm_ﬁh

() Meghalayn

{0 Mimipur

2000-2011 & =yw T & Fafaiam
‘nﬂi'l § 3 el mﬂh e g o

t'm =ﬁrm!|t:
(B) s=mrs= win
() v

(D) =iy
14'ﬂtiﬁunﬂqﬂmhuﬂﬂlﬁgnﬂihmdﬂ

growth rate in Pﬂp'l.ll-lﬁ'ﬂ in Bihar during
2001-11, is-

’.Z".'hll

gheZT

(A) Madhepura  (B) Paina
(C) Knimir D) Kishangun
faerz § o Faen, wwt @ 2001-11 % =k
ﬂm:mmqm#mﬂ
mE - o
(A) = ) 5=
(C) T (D) s
h.J
25 Ifﬂmmmnfnmbadyjshalvﬂd
' mﬂhsspﬁdﬁdm@thmuﬂkmﬂm
energy becomes — “}
(A) douhled =
(B) four times
(C) eight tmes

(D mnmm..hmqu
afs feil nihA @ w1 aEEE W ST
femr M = =W g @ 4 A, @ IEe
wiforA i 1 =MPN
(A) 3T

(B) =

(©) are

26 When did Vasco-da-Gama discover

Irelin?
R G R

(A 1496 IE
(C1 1408 (D 1499
7 Form n new word from the followims

waord by using an sppropriate prefis oot
of the prefixes given bolow -

ability
(A)ih (H) un
(C) mal {13} with

28 When Average Product s maximum.
then Marginal Product of a factor will

be :

(A) Increasing.

{B) Decreasing

(C) Ebgqual to Average Product.
() fero.

wa ahaa S aiasad B, 9% TE w06 &
Bty 3aE

{A) w1 TE &

(B) == &1 |

(C) e sare & 7ET ¥
Dy 3=

29 To achieve full employment. the
deficiency in effective demand can be
remived by @

(A) Increasmg government expenditure
(B) Increasing tax

(C) Pecreasing invesiment

(D)) Increasing impors

qul e Wity &g W 9 S S 6
e mEmEm mEEnEt =8
(A) gTHITT =19 | k=

(B) #T % gia

(C) fram # 7

(D) st 4 gha

[18] 221
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30 X ppenks truth in 75% cases and ¥ in
RO coses, What is (he probability that
they contradict each odhier in stating the
same foct 7
X789 wEl oy ¥ORO% wrme] F m
wrty I o P avvarsy e ot e e i

w1 B e e o gt W frdurare w17
T
20

13

—

20

3
B) 55

A) 20

|
() ™ 3
Which of the following antmal s not a

mammnl 7
(A} Tiger (B) Whale
(C1 B (M |irard

Fyrriftan o # S wndr s oaf b 2
fA) wm (B) ==
(C) wmTE (D) Feess

Al

e digeT & foen ® A wnoon ?
(A) T g SAFET
(B) r Am iyt
(C) sam =10 "t
(D) wfz =my Wiy

Taps A and B can fill o mak in 6 hours
urvd 9 hours respectively. The tap C can
empty it in 12 hours, 1T all the three taps
are opencd together, then in how much
time the tank will be filled 7

{A) 3 hours (B) 5 hours
(€1 5} howrs (D) 71 hours
A#g B A9 oF <) & 9 6 02 T
G 5T F 0T & O gE 12 d2 o e
HT FEAT &1 G A ] ST W e
T < 2 fead wea § w2
(A) 3wz (B) 3 wer

25
34 The unit digit of (4367)° 15 -

(43677 = e W am ¥
(By ¥
(i 3

(A) 7
iy 1

Choose the correct indirect specch of
the Tollowing sentence from the options

below.

She said. "Hurrah, Pve stood first!”

(A) She exclaimed with joy that 1 had
stood first

(B) She exclaimed with joy that she had
wtood first.

() She exclatmed with joy that she has
st first,

(D) She exclaimed with joy that she
stood first.

33

Electoral college for the Vice President

of India consists of -

{A) Elected members of Parfiament

(B} Members of both the Houses of
Parlinment

(C) Members of Rajya Sabha

(D) Members of Parliament and State
Legislutive Assemblics

WA & TR F FarE qves § amiem
L

(A) dm % fraffes e

(B) H82 & =4 @ & §9@

(C) 79 |/ & "I

(D) w8 0 9y fram owal & wEe

3o

(€} 5192 (D) 74 7=

18
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45 The sclence of eonliiee of Nowers bv | 80 Whilch one ol ihe Tl-l|1l.f""'"'“-'l" . Ien an

kniriaii s autodrophs cotripment
(AT Cericuliore (0 Pomology (AY Cirsen planti
O Flisculisre (10 Floelogy (1% Ifie green aheoe

Wl & ugtn & P o wed B
LA SR s (1) wsTA
(0wl () wirwia

() eciinpasers
(13 Phistessynihetig hacter
—— e R L L R

46w ww W fapaien e g - (A) £t B0

(A ardy (IV) & 3

(C) (1) @ L) AT
(C}) arpmes

47 Wﬁ#ﬂmmmﬂwﬂ (13) umpst wodd Wi
'Il i

'L;; ; il &1 IF cou of 20 pens s welling price ol
:ﬂj | i 25 pens: Wha 1 bel loss percentage 7
' ; i 20 0o o) KM 2s o % fasa
tmwmm & wor ¥, om w5 P o oo s kS
48 The Binomial system of nomenclature | (A) 10% adi) 20%
was: proposcd hy - (C) 25% (1) 404
(A) Linnacus 3
(B) Johnson B
(D) Benthan and Hooker {M dsuy By mi‘?ﬂ'r it amﬂ |
fﬁﬁmﬁﬁ'ﬁ““'m-“m rmi:mmmrﬁmﬁ:mﬁ!rt |
(A) #iTas () dwat 3 wwrdl 20 A |
(1) FrE (D) dre el T w0
(C) azam ==
Mu
() fe O g 53 Who among thefollowing is the
. : axponent of negative liberty 7
49 What will be approximate change in the : , :
volume 1 of o cube of side x meters (AA) LAkl (B) Isaiah Berlin
catsed by increasing the side by 3% 7 () Ruuvc".ill-:nu () Mo

5 T MR A A R | Py A e Awees wE
ﬁmhﬁmgﬂlxﬂﬂiﬂmaﬂﬂ'%ﬁ 3 v

& gi wh B P i |
(A) 0035 md  (B) 302w (A) e (B) | SuarE i
() 008 x3md (D) 0,095 (C) & (0wl

18] 221 8 et Page p



=4 Blue volour of sky is due w

(A dispersion of light

(B) - scuttering ol light

(C) refraction of light

(D) rellection of |ight

T A T R % w h
(A) W o fgsigm

(B) wmm o

(C) wwmer w7 srvwds

(1Y) W w1 9T

55 |n which vear did the glorious revolution
take place in England 7
gdx W e o= F wifw TEmEeE
(frrasmet wifa) g5 7

(A} 1683 (B) 1678
(€) 1688 (1) 16U
‘86 Cell wall is absent in __ cell.
(A) plant (B) . animal
l:{.} bacteria (D) fungus
wifser fafy i | st ol B
(A) "= (B) =g
(D) &%

(C) Sy

57 Wha was the first Deputy Prime Minister
of India 2
(A) Morarji Desai
(B) Jagjeevon Ram
(1) Sardar Vallabhbhai Patel
(Dy V. P Singh
oA & WER S0-auE o s A T
(A) ST 2

58 Since the kevs mre with my motber, i
Vil TR

(A} can not lend  (B) do lend
(C) has aot lent (D) sm pot fendd

29 The : __ seguence of acidic characier
of following oxides is -
B:qﬁqimmﬂﬂ % i W EE
o B =
(A) S0, > CO: > CO > N3O,
(B) SO5 Ny~ CO = €O,
(€) Ny 80, > CO=C0,
(£ H]E:_'l'f El:fll = U, = (&8
=
80 | the straight line supply curve cuts the
price nnis, then elasticity of supply will
be— o
(A) Fqlai to one
(B) Cirestar than one
(Ch iﬁiﬁ'ﬂm e
(D) Lero
@ A% e AR
(A) THE_& TTET
(B) m@ wfE
(C) THE | %9
(D) ¥FE.5
Hﬁl}
61 Which aidhe following latitude passes
from maipland of India 7

(D) . & R

2

(A) 20°36'N  (B) 3T°T¥ N
(C) TP4N (D) 39° ¥'N
G il e A @ Wim W e i
T[T T S A
(A) 29°36's  (B) 37273 &
(C) 7”43 (D) 39° 3 3.

9 Next Flg:-]
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71 When was the Indian Independence Act

73

74

¥
(A) IE July, 1947
(D) 14 August, 1947
(C) 15 August, 1947
(1)) 20 February, 1947
wrrdve v e e o g o
iA) 1B T, 1947
(B) 14 sew, 1947
(C) 15 @y, 1947
(D) 20 wrafy, 1947

Which of the following is a bad
conductor of electricity 7

(A) Aluminium (B) Copper

(C) Plastic (D) Silver
Frefies # @ sm R e ymAE b 7
(A) wwafes (B) =

(C) wfizs (b =t

The mosi popular and widely used
measure of central tendency is —

(A) Mean (B) Median
(C) Mode (D) Range

Heiva wafa = gaites AsE T9 S
wges k-

(A) =g (B) 5@

(C) #gws (D) ra

78 viwwe wpd ph o weeh TE w0 W
WPE 1 WM wn oW

iA) Triex i By se= e

iC ) wed fige (1) guis=r e

76 The speed of a boat n still water In
2?7 kmihr and the rate of curremt I
4 kmihr. The distance travelled ypstresm
in |15 mimiles is -

(A) 3 km B} 4 km

(Cy 4.5 km (DY 5.4 km

s R W fey WA A i 12 e koA
g srafsRn Y i d X

Pafm e v g b -

(A) 3 s (B) 4 s

(C) 4.5 P () 54 9
7 et 4 sSees gm w0 R C

(A) &9 (B) F=n

(C) =mitt (D) ar=is

78 The molecular weight of heavy wales

=

it o= o s K-

[A) 20 (B8) 22
(C) IR () 19

79 ‘The State Flection Commissioner can

be removed -

(A) by the Governor of the State

(B) by the State Assembly

(C) through an order issned by the
Chief Manister

(D) through a procedure similar 1o that
for removal of the judge of a High
L ourt

T A NG B EZE W ST b -

(A) T & T=aT Fa

(B) T TaomEw 310

{Elﬁﬂﬂ.kﬁ.ﬂﬁﬂiﬁ‘rﬁﬁ%ﬁ

i i
ﬂ}]ﬁmtw@maﬁmﬁﬁt
w99
___—l
11 E’“"ﬂ"



B0 IThe comoepd of cellular it ipotency was

peropmer] b '
(A} Kolliker I Skoog
(C) Heberlandt (L2} Willkina

wifwkm phrsrm & jprrm uwp WS
]

(A} wiftwwy () g

(C) bariten (1) Penfen

Annmmkur:m@uﬂhnmhw
T :

IA) PVC () terylenc

(C) polypropylenc () polysiyrene

Wituw wyws W g b -

(A) I'VC () Hwhm

(C) wiwianesl (D] sSfea
WL}

'-nl
| j+ﬁ+tﬂ+..-.+%ﬂ is equal

i
143464104+ . +%ﬂ e -

£
i+l 2l
b =
masl)inte )
f "
4+ 1) (n+2) i

L5 =
2 et

(A)

(B)

()

(D) =

B3 Who was the first scientist (o
discover that the Earth revolves sround
the Sun ? .
(A} Copernicus  (B) Kepler
(C) Cialileo (D) Darwin
gt i favm werst g A s 4t B ged
gi o awEr @it 8F
(A) SITFSH (B) &waT
(C) Tt (D) wrd

18] 221
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B AIDS In comwed Y

87

“." mqul.ﬂlh.p
LA

. (i g
s e emmt
(A) W =) m""'
iy foven (1

Trade winids in southern hemiapher.

biow in directim - =
(A sorth - Fast to South - West

South - East 1o Novth - West
:E:w-mmﬁmﬂ‘-"“‘-“
(D)) North = West o South - Fasi
o et 3 wnafts S & Wt w
Fram &

(A) Tar - g & xfem — Wi
(B) =hem — qd & W0 - W
(Cy oiww - oftem @ g - @
(13) der - witers & ofem —

KCID, = 1€, in this chemical change
oxidation number of chionme

(A) mcreases by 6

(B} decreases by 6

(C) decreases by 4

(D)) increases by 4
s o - KOO, — IC), & Fnm=
W ST W

(A) 6%F = *

(B) 6wz amm &

(C) 4wz e &

(D) 4 ws o B

In which i_ﬂ'= the following distrivis
Baskund Dam is located

(C) Jehanabad (D) Lakhisarm
mﬁ'ﬂMMﬁW_ i
o k? |

(A) gt (B) =i

(C) e (D) A

mest Page ’




¥ o hosdy is ol
mll" W rmey then

II._. h . ‘H, ““ “.m
B “m!““h-tr_ﬂ

EH‘ "l
o ﬂ"'

tD vw g

’ ¢ the correct option for the
- underlined phrase from the words g

:,'HIP! TN
y H. s e

lBImT.

d that young man was

(ﬁ'l' completctly () secretly
() openly (1 suffickently
"0 When wis the *Paris Commune” founded
in France *
(A) I1R4K A D, (B) 1X70 AD.
1871 AD. (M 1875 AD

'ﬂl'l o afve s o e oee i ?
(A) 184K ¢ (B) 18570 £
{Oy 1’871 () 1875 ¢

1 Fill in the blank with appropristc answer
'lﬂumyhlluhmm
Iﬁhptumt
ji:li'uiug
. lives

(1) living
(M five

Gandhi Sagar Ilmnu:plﬂnlwhlch
e of the following ?
Elumhll*meﬂ

Project

Ilu"ll mwhm

f Hﬂhﬂﬂmﬂﬂ'mm

: mﬁhﬂﬂﬁh‘ﬂhi‘
j

13

93 Which of the following » e acelllsr

organium ©
(A) Becteriam (1) Vins
(C) Liheli, (1) Funges

mij o e wwit B2
v
(A) ey () Sy
{C]'hu (i wee

irsl

LY =
Burming offcandie = the example of -
(A) Physical change oaly
() wm—h
{C)_Poth Ehimical and phrysical changs
() H-hh:iﬁ chemical nor physical
Shange -
et W wen e 4 8 S RS W
e 0

Pl
{MHE'M
(B) o vgraEes e
iU) shiys = merairs sfreds o

[I]jq'ﬂ;jlftﬁilﬂmm
-
Hu:pmr*l:m:
(A) Saprophytic  (B) Parasitic
(C) Amtotrophic (D) Holozoic
dw i drem ¥
(A) i (B) wried
(C) v (D) TR
——— N

et



